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Particular SR (S IR 105000

A W - 27,000
Correct distribution of prafit in the proportion of 1,2:4 i 000 - 531{100‘ = ﬁ},ﬂﬂﬂ
foh, n — 63, .
| Incorrect distribution of profit in the proportion of HE .—-—-ﬁ""__- — 9000 + 45,000
Amount of difference = 6 pDehit Credit
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Rectification of Error ¢ An excess credit to Milin's and Hem

: . .0, Rasik's acco
respectively, and T 45,000 are less credited to Rasik's Account. S0 R

Milin's and Hemant's capital account will be debited.

unt will be credited ang

___-—-—-__'_-_-_ -
—T -] pebit (€)' | Credit ()

Date Particular LENay o e
36,000
Milin's Capital/Current Ale Dr el
He to gLt e A fNHHII ~
emants Capital/Current Adc Dr 45000

To Rasik's Capital/Current Alc

\Being profit credited in wrong proportion 1s

corrected. |

1-4-2016 their capital was T 40,000

m“:“"“iﬂ'ﬂ 7 ¢ Ram, Laxman and Sita are partners of a firm. On .
it was realtsel

30,000 and T 80,000 respectively. At the end of the year after distribution of profit
that charging of interest on capital at 12 % is missed out. Write journal entry for rectification.
Ans. :

Particular Ram (2) |Laxman (¥)| Sita (%) Total (T)

Interest on capital at 12 % + 4800 + 3600 + 9600 s
Reduction in profit equal to amount of
interest (T 18.000)

In equal proportion (1:1:1) — 6000 — 6000 — 6000 — 18,000

Accounting treatment of difference io — 1200 — 2400 + 3600 =
Capital Account

Debit Debit Credit |

Rectification of Error : ¥ 1200 and T 2400 will be debited to Ram's and Laxman's capital
account respectively and T 3600 will be credited to Sita's capital account.

Date Particular LLENo] Debit () | Credit (3)
Ram's Capital/Current Alc Dr 1200
Laxman's Capital/Current Afc Dr 2400

To Sita's Capital/Current Afe 3600

[ Being the computation of interest on capital
at 12 % was missed out, is rectified. |

e

Explanation : Total interest on capital is payable T 18,000, So the same amount of ¥ 18,0 =)
_ _ : : i unt o

to be reduced from the capital account of the partners, which will pe debited in their fi .

ratio. Since profit-loss sharing is not given, amount will be debited | S

M equal proportion.
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